
Homework 21 Final Answers

Section 10.3
-

za - HMH "' -Z) #z
•

0=34/2

zb.cx.ph's "

x. can

i⇒÷..•i÷÷;¥



Sa
.
i) (452,544) ← r > 0

case

) (-452,7-44)← rao ) keep 01012T
case

IX.y)-1-4,4)⇒¥"•°•#4-

R

Sb
. ( 6

,

th "
bird

⇒
F¥:*



""

÷÷÷÷±÷÷.
""

÷÷÷



ighdusive £
not inclusive

10 . Sketch 1Er E3 Tyg L GL SIL

¥"----.÷!÷÷ I
got inconclusive f.

inclusive

11
.

Sketch 2423 If so I 7¥
9 IT

3

t¥>
5T
3-



Plus Q : A
.
r=2cos€ Show Both .

Cartesian Plot Polar Plot

2- #
W -
210

B. r= Kino

Cartesian Plot Polar Plot 3

3-



C . r= Its.int

Cartesian Plot Polar Plot

2
2

t÷÷¥: #Z l l

r : 19201 ¥091

D . f- 21-2650

Cartesian Plot Polar Plot

2

÷¥÷#
e.
4 2

r: 4 Lz 2

9So



E . f- 3- 3sinQ

Cartesian Plot Polar Plot

6- ⑤
¥ ÷ ¥ '

za I
6

ir:

z z
↳3

soo




